
Parameter Scenario 68% CL /(10−2) 95% CL /(10−2)

cgg Profiled
Observed −0.11+0.20

−0.26 ∪[−1.85,−1.42] [−2.12,−1.35] ∪ [−0.71, 0.36]

Expected 0.00+0.18
−0.27 ∪[−1.91,−1.48] [−2.23, 0.37]

c̃gg Profiled
Observed 0.00+1.29

−1.29 [−1.79, 1.79]

Expected 0.00± 1.15 [−1.78, 1.78]

cgg Fixed
Observed −0.08+0.07

−0.15 ∪[−1.65,−1.54] [−1.71,−1.54] ∪ [−0.59, 0.05]

Expected 0.00+0.06
−0.14 ∪[−1.73,−1.50] [−1.78, 0.12]

c̃gg Fixed
Observed 0.22+0.28

−0.22 ∪[−0.50, 0.00] [−0.74, 0.75]

Expected 0.00± 0.45 [−0.87, 0.87]


